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QUESTION 1

Given: 

What is the result? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 
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QUESTION 2

Given: What is the output? 

A. 2015-03-27 

B. 2015-04-27 

C. 2015-02-27 

D. Compilation fails due to error at line 6. 

E. Compilation fails due to error at line 8. 

Correct Answer: A 
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To create we have used following method with LocalDate class; public static LocalDate of(intyear, int month, int
dayOfMonth) Here we need to remember that month is not zero based so if you pass 1 for month, then month will be
January. Then we have used period object of 1 day and add to date object which makes current date to next day, so
final output is 2015-03-27. Hence option A is correct. https://docs.oracle.com/javase/tutorial/datetime/iso/ datetime.html 

 

QUESTION 3

Which two are benefits of polymorphism? 

A. Faster code at runtime 

B. More efficient code at runtime 

C. More dynamic code at runtime 

D. More flexible and reusable code 

E. Code that is protected from extension by other classes 

Correct Answer: BD 

 

QUESTION 4

Which two initialization statements are valid? (Choose two.) 

A. Boolean available = "TRUE": 

B. String tmpAuthor = author, author ="Mc Donald"; 

C. Double price = 200D; 

D. Integer pages = 20; 

Correct Answer: CD 

Reference: http://www.functionx.com/java/Lesson06.htm 

 

QUESTION 5

Given the code fragment: 
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What is the result? 

A. Values are : [EE, ME] 

B. Values are : [EE, EE, ME] 

C. Values are : [EE, ME, EE] 

D. Values are : [SE, EE, ME, EE] 

E. Values are : [EE, ME, SE, EE] 

Correct Answer: E 
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